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Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any five questions: 2x5=10
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a)  What is law of priority? Give an example.
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b) Write two importances of conjugation in

paramecium.
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c) Define metagenesis.
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d)

g)

h)
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Differentiate between prototheria and

metatheria.
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What are the different parts of a poison

apparatus?
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Delineate the flow of water in the water
vascular system of a starfish by an arrow

diagram.
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What are the primary and secondary host of

Fasciola hepatica?
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State two ways by the spreading of Ascaris

lumbricoides can be stopped.
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2.  Answer any two questions: 5x2=10
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a)

b)

d)

Describe biting mechanism of snake with

suitable diagram.
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Describe the process of conjugation in

Paramecium.
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Write a short note on leuconoid type of canal

system with proper diagram.
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Describe the structure of swim bladder in fish

and also mention the types of swim bladder.
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Answer any two questions: 10x2=20
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Describe the life cycle of ascaris
lumbricoides with diagram. What is Loeffler

syndrome? 8+2
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b)

d)
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Describe the different types of nest built by
Amphibians during their parental care. What
are the clues that birds use during their

migration? 5+5
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What is retrogressive metamorphosis? Where
it is found? Describe respiration in Pila.
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What is synonym? Describe the international
laws of zoological nomenclature. What is the
infective form/stage of entamoeba histolytica?
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